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'EDUCATION |

(Educational Evaluation and Statistics fn Education)
[ Honours ]
PAPER — VI
Full Marks : 90
Time : 4 hours
The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary
[NEW SYLLABUS]
GROUP —A

1. Answer any five questions (each answer must be
within 60 words ) : - 2x5

(a) What do you mean by measurement ?
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(2)

(5) Define evaluation. _
(¢) What are the full forms of NRT & CRT ?
(d) What is inquiry ?

(e) What is meant by standardisation ?

(N Define reliability.

(g) What do you mean by semester system ?
(h) State two characteristics of Question Bank.

Answer any two questions (each answer must be
within 300 words ) : ' 10 x 2

(a) State the purposes of measurement. Discuss
the interrelationship between measurement
and evaluation in brief. 5+5

(b) What is meant by essay type test ? State the
advantagesand disadvantages of essay -type
test. 2+4+4

(c) Define norm. Discuss the general principles
of test construction. 4+6

(d) Discuss the advantages and limitations of
Question Bank. 6+4
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Answer any three questions (each answer must

be within 200 words ) : - 5x3

(a) What is observation? State the uses of
~_observation. 2+3

(b) Write a note on objectivity 7 | 5

(¢) What s grading system ? State its uses. 2+3
(d) State the purposes of measurement. | 5
(e) Write the uses of norm. 5

(f) Mention the relationship between validity
and reliability. 5

GROUP - B

Answer any five questions (each answer must
be within 60 words ): ' 2x5

(a) What do you mean by measures of central
tendency ?

(b) What is percentile point ?
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(¢) State the importance of pie-char;.
(d) Define 'Ogive'.

(¢) What is meant by leptokurtic and
mesocurtic curve ?

(f) State any two 'properties of normal
probability curve.

(g ) What is 'Scattergram'?
(7)) Give a suitable example of zero correlation.

5. Answer any fwo questions (each answer must be
within 300 words ): 10x2

(@) What is frequency Polygon? Draw a
frequency polygon with the help of
- following distribution : 7 3+7

Score|10-19{20-29{30-39}40-49! 50-59| 60-69{70-79{80-89 N

f 2 31|15 4 6 4 |4 {2 }30
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(35)

(b) State the characteristics of Mean. Calculate
the mean and median from the following
distribution: . 2+4+4

Score|30-34 | 35-39 140-44 14549 |50-54 |55-59 | 60-64{ N

-f467_85323'5

. (c) Mention the uses of normal probability
curve. Write anote on 'Skewness’. ~ 5+35

(d). What do you mean by coefficient of
correlation ? Calculate the coefficient of
correlation by rank difference method from
the following distribution and add your
comment : 3+5+2

Students| 4 {B {C |D|E |F |G |H{I |J

Scorpin
Math | 45 _50 55 [60[55]165{70[60{65{75

Score in |
English | 40145150 155}60{60]75]65{70{ 75
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6. Answer any three questions (each answer must
be within 200 words ) : 5x3

(a) What is Range ? Write the formula of SD
and QD. 2+3

(b) ‘Write the scope of educational stafistics. 5
(c) State the importance of Bar-diagram. 5

(d) What do you mean by positive and negatlve

correlation. Give example. 2- = + 2;
(e) What is percentile Rank. Write its formulg, 5 ‘
(f) State the characteristics of Median and

Mode. 2_._}.2_.'-
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